
Parts List

DESCRIPTIONPART NUMBERQTYITEM

Motor, SDS Long 4042511

End Cap, Triplex4127512

O-Ring, Housing, 2343884543

Motor Adapter, Triplex4130014

10-32 X 2  SHCS SS2085025

Washer, AN-960 #10 Flat SS2177556

Housing, SDS SS4035017

Discharge Head Cap4125518

Set Screw, 3/8 -16 X 1/2 4108119

Cam Assembly, T-12841125110

Outer Piston Assembly41350111

Diaphragm, SDS-T-128  (Red)41225113

Check Valve Assembly, SDS-T41180114

10-32 X 1 FH  Piston Screw20650315

Relief Valve Assembly, T-12841375116

Suction Screen, Triplex41425117

I-Bolt 1/4 X 1 & Nut Assembly19980118

10-32 X 3.5  SHCS SS20930319

O-Ring, Triplex CV 2 X 36mm41325120

Screw, 8-32 X 3/841437821

Cable Guard, Triplex41430122

Discharge Head, SDS-T, NPT 41250123

O-Ring Relief Valve 01538805124

O-Ring, 00838800825

Piston, Triplex Brass41355329

1

1

2

2

3

3

4

4

A A

B B

C C

D D

TITLE

SIZE DWG NO
REV

SCALE SHEET OF

DRAWN

CHECKED

QA

MFG

APPROVED

SDS-T-128 Parts List

51650
1 1 

 

C

SunPumps, Inc.James C. Allen 9/17/2011

 
 

  

  

 

SDS-T-128 Exploded View
Ryton / 304 Stainless Steel

7

5

6

25

2

3

1

22

21

10

11

3

4

13

29

15

14

20

17

16

23

19

21

18

25

6

8

9

21

25


